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(i) 12x, 36

12x=2*2*3*x
36=2*2*3*3

2*%2*3=12

(ii) 2y, 22xy

2y=2%*y
22Xy=2*11*x*y

2*y=2y

(iii) 14pq, 28p°g®

14pq=2*7*p*q
28p2q2: DHEDR7* p*p*q*q

2*7*p*q=14pq

(iv) 2x, 3x%, 4

2X=2*X
3x2=3*x*x
4=2%*2

1

(v) 6abc, 24ab?, 12a’b

6abc=2*3*a*b*c
24ab?= 2*2*2*3*ga*ph*bh
12a’b= 2*2*3*a*a*b

2*3*a*b=6ab

(vi) 16x3, — 4x?, 32x

16X°= 2*2*2*D*yFx*x
— 4XP= -2*2*x*xX
32X=2*2*DF XDy

2*2*x=4x

(vii) 10pqg, 20qr, 30rp

10pg=2*5*p*q
20qr=2*2*5*q*r
30rp=2*3*5*r*p

2*5=10

(viii) 3x%y°?, 10x%y?,6 x?y*z

3x2y3= EXFXFYFYFY
10x3y2=2*5*x*x*Fx*y*y
BX2Y2Z=2*3* X *FX*y*y*z

X*x*y*y =x7y*
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(i) 7x—42

TX=T7*X
-42=7*(-6)

TX-42=T7*X-7*6=7(X-6)

(ii) 6p—129

6p=2*3*p
-12g=-2*2*3*q

6p—12q=2*3*p-2*2*3*q=6(p-2q)

(i) 7a*+14a

7a’=7*a*a
14a=2*7*a

7a’+14a=7*a*a+2*7*a=7a(a+2)

(iv) —16z+20z°

~16Z2=-2*2**2*D*7
2023=2*2*5*z*7*7

—16Zz+20Z°3=-2*2**2*2* 74 2* D, G*7x 7% 7=A7(-4+577)

(v) 20I°m+30alm

201Pm=2*2*5*|*|*m
30alm=2*3*5*a*|*m

201°’m+30alm=2*2*5*|*I*m+2*3*5*a*|*m=10Im(2l+3a)

(vi) 5x%y—15xy?

5X2y=5*x*x*y
-15xy*=-3*5*x*y*y

5x2y—15Xy?=5*x*Xx*y-3*5*x*y*y=5xy(x-3y)

(vii) 10a®*~15b%+20c?

10a’=2*5*a*a
-15b*=-3*5*b*b
20¢%=2*2*5*c*¢

10a>-15b%+20c?*=2*5*a*a-3*5*b*b+2*2*5*c*c=5(2a-3b*+4c?)

(viii) — 4a®*+4ab—4ca

-4a’=-2*2*a*a
4ab=2*2*a*b
-4ca=-2*2*a*c

—4a’+4ab—4ca=-2*2*a*a+2*2*a*b-2*2*a*c=4a(-a+b-c)

(ix) XPyz+xy?z+xyz?

XPYzZ=X*X*Y*7
Xy2z=x*y*y*z
XyZ2=x*y*7*7

X2YZHXY?ZHXYZP= XFEXFY*ZHXFYFY* 7+ XFy* 7* =Xy 7 (X+Y+Z)

(X) ax?y+bxy?+cxyz

axy=a*x*x*y
bxy?=b*x*y*y
CXYZZ=C*X*y*Z

ax?y+bxy?+CxyzZ=a*x*x*y+b*x*y*y+c*x*y*z*z=xy(ax+by+cz)
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(i) X*+xy+ 8x+8y
=XFX+HX*FY+8*x+8*y
=X(X+Y)+8(x+Y)
=(x+y)(x+8)

(i) 15xy—6x+5y—2
=3*5*x*y-3*2*xX+5*y-2
=3x(5y-2)+1(5y-2)
=(5y-2)(3x+1)

(iii) ax+bx—ay—by
=a*x+b*x—a*y—b*y
=x(a+b)-y(a+b)
=(a+b)(x-y)

(iv) 15pg+15+9q+25p
=15pq+9q+15+25p (DhReerEsn)

:3*5*p*q+3*3*q+3*5+5*5*p
=3q(5p+3)+5(3+5p) ---( 5p+3=3+5p)
=(5p+3)(39+5)

(V) z—7+7xy—xyz
=z—T7—Xyz+7Xy (DD3eeEs)

=1(z-7)-x*y*z+7*x*y
=1(z-7)-xy(z-7)
=(z-7)(1-xy)






